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16, Jiﬁiitz_[f x’dsinx = x*sinx|2 —2]02xsmxdx=7+2.[02 xd cosx

2

2 . 7 pe
2 _ 2 - _
2 ZJ'O cosxdx= 4 2

T
= +2XCOSX

2
17, FTRATNY = V—GJ =Ly = pexp. AR Xp =-p®, HEEES.

1 1 1 X
- _d = _d ’ _:I ’ = .
jpz p Ix X, ) nNx+C, y i+ C

18. 4 g(x)=In(1+x), g(0)=0, 9'(X)=i(_l)nxndxzz_:%

S (=D" nia
Hf(xX)=) ~—~x"", -1<x<1.
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19. n{1-11}. n{4-31}, I=nxn, =3 -1 1/=2i+3j+k

4 -3 1
- x-3 y-1 z+2
Hg NS = o2 e
L TTFEN > 3 1
oz . 0%z : . . . . .
20, 5=x2f2, m=2xf2+x2(f21~2x+1“22-y)=2xf2+2x3f21+x2yf22.

21. 4 f(x)=3x—x%, xe[-22], £ (x)=3-3x*=0, x=+1, f(-)=-2, f@)=2,
f(2)=—2, f(—2):2; Fir A fmin:_z’ fmax:2’ EQ_ZSf(X)SZ, Eﬂ‘3X—X3‘SZ,
22. y =2x+Yy, y(0)=0
iy =(2x-2)+Ce*, Hy(0)=08C=2, fty=-2x—2+2¢".

_[? 2 y2yqy . 04
23, (D S—j_2(8—x —X )dx—g

@ V=z[ (Jy)’dy+z[ (B-y)*dy=16z

24. [[ f(x)dxdy= jot olxjot f(x)dy:tJ‘;f(x)dx

0(0) = [ 109 t=0
a t=0

(1 limg(t) = m}ﬁ FO)dx=0. i g(t) iiEs:tEeTana = g(0) = limg(t) =0

(2) Ht=£0m, gt)=f(t),

h
e o () —g(0) o FO9X
st=0nf, g'(0)=limF I < limE——— = lim f () = £ (0)

gk, g @t)="f().
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oo ef=x-1 . e*—-x-1 . e*-1 . e° 1
fid: lim =lim > =lim =lim—==.
x>0 Xtan X x—0 X x—0 X x—0 2
77 Y 1 X y N ~, N X y 1 1 dy 1 ex_y
fig: J7kEe’ —el =Xy, P X RKFHEe ) y'=y+xy, H—==Yy'= .
dx e’ +X

2
dl oy 4y
dx|x=0 dx?

¥ x=0Kr, y=0,
XX f, oy [iXd <=0

fift sze‘xdx = —Ixzd (e7)=—x%"+ Zj xe dx=—x%e* — 2j xd(e™)
=—x’e* —2xe* -2 +C.

12 z 2
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ik
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2 -1 1

RPN 2(X—D) +(y—2) -3(x—3) =0, Bi2x+y—-3z+5=0.
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1 8r
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(2> mEE A [a-y)dy=[a-y)2dy . e 1-a)2-1=—(1-a)

0

1

a=1-(2)°.

22, fig: f (x)=3ax* +2bx+c, f (x)=6ax+2b.
hEEE f () =0. f')=0. f()=2, Ma=-1. b=3. c=9

i a<y<b o a<x<b
23, UEM: D s BN R D
y<x<b asy<x
b b 2x+y _ 2X+y b X 2X+y _ b 2Xx X 2y
L olyjy f (x)e2*Vdx = jD [ (e —L olxja f (x)e2*Vdy = j f(x)e”dx[ e>dy

= [0 f(0e™ (e* —e)dx= [ (€ —e**) f (x)ax.

x*+1
X(x +1)*

24. iEWI: /%F(x):lnx—z—i, B, F(X)7E (00400) Hish 1T F(X) =

e F (X) 76 (0,400) -2 534,
TH, 40 < x <10, F(x)<F(1)=0,Eﬂlnx<§—j,1x2—1<0,ﬂﬁz(x2—l)lnx>(x—1)2;
Hx>1n, F(xX)>F(@) =0, Eﬂlnx>x—+1 Nx?-1>0, #(x*-DInx>(x-1>.

v EFTR, x>0, A (X —-1)Inx > (x—1)2.
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I|m(X 2y5 _ lim+ 2y = L

X—00 X—00 y eG )
14. y'(t)=sint, x (t)=1-cost, y (t)=cost, x (t)=sint.

dy _y(t)_ sint d’ Y_Y’ OxO-yoxe_ -1
dx x'(t) 1-cost dx’ x©f (1-cost)?’
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X2 e ed(x+D) e B
15. X—de—jmdx _[de__[(x x+1dx—Inx+1+C

3 2
:X?—X?+x—ln|x+14+c.

. 2 . L 1 , £ 11 , 01 11 , 01
16. | e¥dx=| e’d(x2)? =2| e -x2dx2 =2| e*de? =2(x2e* |}—| e* dx?)
0 0 o 0 0 Jo

101 1
—2e-2[ e"2dx2 =2e-2e" [} =2e~2e+2=2.

17. hEiEE: %:(—2,3,0), AC = (=2,0,5) . TBLIEMEN

R —2 —2l}-2 -2
N , _ (1510,6).
513 0
oz 0%z
18. & = f 1 —F f 2. axay = f ll+ f12 y (f21 + 22)
1 1 .. "
_fll +; flz_? f2 Xy2 f21 X_)g 1:22

19. ”xzdxdyz j:dxjox x2dy + fdxjo1 x2dy
D

—jx3dx+'[ xdx_—‘ +—‘ =l 3_7
4 2 4
0. MAHETH u(x) = e _gni” =X_12.
FETTE XY =2y +X° 7'de 2xy X.
EHBRFARTLRANT -, 43 dy 2y 1
x“dx x° X
-2
i, 3G7Y) 1
dx X

AR A Y = X? Injx|+ x*C
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21\/—<>F(x,y)=§—y, 5 x Ay 005 38 F, (%o, Yo) = ‘—21, F, (X Yo) =1

P B 128 1A — 15 (X, Yo ) I EIEE TR X;XO Yo,

U X=0 B, y i E MR Y = Xi+ Ye.

0

B y=o B, x Hi LI X = X2V + X

2 F (o1 Yo) =+ Yo X Yo + o TAR F(,Yo) RN

0

1

M F(Xq,Yo) =Xi+x0 +X—+xO :Z(Xi+xo) >4, X, =Y, =10, HEH/ME 4.

0 0 0

1 3nx° 3r
22, (D Vz;r_[o(4x —X )dX—To=—

(2) hiEEEFER. j (2x% — x?)dx j (2x2 — x2)dx
W13 Laxzdx=Lx2dx

fiba, w3 8 =, Ha=—.
25

23. 2g(x)=f(x+a)—f(x), W4ag@="~f2a)-f@), g(0)=f(a)- f(0).

i1 g(a)g(0) <0. JHg(x) %[0, a] ks,
HAEEE (0, @), MFg(E)=0, W f(&)="f(+a).

24. ¥ e I B A ETHE. ele+%x+%x2+---
1, 1,

N Sy > X _ 1 1 2 o) =1 — — —
RARERED: (L-X)e —(1—x)(1+ix+§x +--)=1 5x §x <1

2009 FirppEBEGR “FHR 4—ERSEHF LA FEE
C

1.A 2.B 3.C 4.B 5. D 6. 7. In2 8. 4xe*

T z2
9\

= 10. —
3 2X2+Yy

1.2 12, In|x|+%x2=2|n|y|—y+c
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) X . 3x
13. lim —— =|im =6
x=0 X —S§InX x»01—CcOoSX

dy (2t+2)dt

14, dx=—2_dt, dy= (2t + 2)dt, ~2(t+1)°,
1+t dx 1 gt
1+t
a %
g
d7y _ dX:4(t+1)dt:4(t+1)2.

2
dx dx 1 4
1+t

2 J—
15. é\\/2x+1=t,x:t 5 1, J.sin\/2x+1dx:J.sint-tdtz—jtd cost:—tcost+_[costdt

——tcost +sint +C =—/2x +1cosv/2x +1+sin/2x+1+C

16. 4 x=+/2sin0, Hx=0,60=0: g.x:l,e:%.

1 x? ~ 2sin? @ 2 1. .15 71
dx=[* J2cos0do=[4(1-cos20)do=(0-=sin20) g == —=
'[(’\/Z—X2 J J2 cosd Ji )40=1073 )g 4 2

17, CHIELNA RN S, =3, 21), FHEERNEN N =L L) B, Fikr i
i ok

FEAIIN =5, x N, =3, 2D x L4 =[3 2 1/=(1-2,1). Z&H% (0,1, 2) =k il
111

b, MR RN -1 + (<2)(Y D) + 1z —2) =0, Bx—2y+2=0.

20s &

18, ”ydozﬂpzsianpdez_[,;sianejﬁ pde=%j§(8csc29—2J§sine)d9
D D 4 4

T
:l(—8cot0+ 22 c0s6)|2 =2
3 z
4
oz .. : 0’z . . .
19. Fvia f, -cosx+ f,-y; oxdy = f, + xcosx- f,, + xyf,,
s JFo w1
20, B HFR pu(x) =e =e =—.

X
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dy 2y
dx x

R TFE XY =2y + X2 H —= =X.

TR AT s 2L
X x“dx X X
)
g, Y 1
dx X
-2
RPN | dix7y) _ 1gy
dx X

sy = x* In|x|+ x*C

21, (1) W F (O MR SURA R, | (X)=3x2 =3, & f () =07 x=+L1, & f(x) M
I 1) (o0, —1], [L+o0) , MM I [ 1], KM f(-1)=3, #AIMEN
f(1)=—1.

2 £ (X)=6x, 4 f (x)=0, fx=0, fizky="f(x)7E (o0 0] LMK, [0, +w) I
M, #5(0,1) A

(3) T f(-)=3, f)=-1, f3)=19, Hm¥ f(x)7E AKX [-2, 3] FrEkiy
f(3)=19, /M f(1)=f(-2)=—1.

2. (1 V,=m’-2a° - [ mldy=ma’, v2:jz;z(zx2)2dy=g7z(32—a5).

(2) A1=I0a2x2dx=§a3. A2:I:2x2dx:§(8—a3).ﬁaA1=A2f%~a=i/2.

23, i (1 B lim £ () = lime™ =1, lim f() = lim(x+) =1, F f(0)=1. PFt\se
£ (X) 76 X =0 kit

f(x) f0) ,. e*-1 lim f(x)-1(0) X+1-1

2 FEHNIIim———"=lim——=-1, = lim =-1, frLd
x—0" -0 x-0~ X x—0" X—=0 x—0" X

FO)=-1, f.(0)=1. T f_(0)sf.(0). FiLAm% f(X)7x=0 RIS,

24 i 4 F(X)=4xInx—x2 —2x+3. 0 f' () =4Inx—2x+2, f'(x)= ——2— sz,

mT4l<x<2if, f (X)>0, #ems f(x)#£[L2) L, MmSlx<2 i

f' 00> f @)=0, FRESf(X)7E[12) Leim, Mislx<2if, f(x)>f1)=0,
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B4 l<x<2i, 4xIinx>x? +2x—3

2010 SFir B Eil itk “EHA” h—ERBHERF A EEE
1.A 2.C 3.B 4.D 5.D 6.C
7.e2 8.2 o, % 10, —4 11, dx+2dy 12, (-11]
X—tanx . X—tanx ,. l—sec?®Xx —tan’x 1
13. JHFx=lim =lim =lim———= =—=
* x»O X tan x x—0 X3 x—0 3)(2 x—0 3)(2 3
x+y 2 X+y
14, ﬂ+ex+y(1+dy) g, Iy _2-¢. dz’: e
dx dx 1+e* dx @+e )
1 1
15, Jix= —x arctanx—§x+2arctanx+C
. t?2 -1
16. EHH. SJ2X+1=t, X= , dx=tdt,
—1
3
st = j tdt_j(_ —)dt_( Loy —t) 28
I j kK
17. n =123, n,=(20,-1), n=nxn,=|1 2 3|=(-2,7,-4),
2 0 -
. , x-1 y-1 z-1
TR BTN = =
e

2

574 . C X
&:yz(fly"‘ fze )¥

”xdxdy IO dyj

FHETT RPN =1, 1,

18.

19,

20\

=LA RIER, p(x) =1, TitQ(X)=AX,

Y = Ae* + Axe*, Y =2Ae* +

xdx =

0°z i . ‘e
ooy 3y’ f,+2e*yf, + xy* f,, + xy’e*f,,

V2
6

=-2, FEFENI? +1r—-2=0, Miip=1q=—-2;
Bl vcks N Y = Axe”,

A, p=1q=-2. fRAJRY +py +qy =€ 1
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21 K f (x) =et — ;xz—z,f(x) et —x, ' (x)=e*1=1>0, f (x) 7£ (1, + o)

Erigigsg, f@Q)=0, f(x)>0, f(x)7 @ +oo) L iifig,

et >1x2+l .
2 2

f(h)=0,

f(x)>0, &

22. 1imf(x) = lim2 2 im0 =00) _ o)1= £(0), serieimir.
x—0 x>0 X x—0 X—0
p(x) _ | | |
£(0) = lim f(X)—f(O)_|imX—:|im&2_leim¢’(X)—lzllim(p(x)—(p(O)
x—0 X—0 x—0 X x—0 X x—0 2X 2 x>0 Xx—0
- % lime’ (x) = %(p" (0), 7 SHEAIE.
23 V(@) = 7] [(a)" - ()] k=2 e
V,(@) = [, [0¢)" - (&) T = -a + £ )7
V(a)=V1(a)+V2(a)=(%—a4+§a5)7z,
V'(a) =(8a* —4a®)r, /%V'(a)ZOfTﬂra:%, BMEAV (Z )_E”
24, f(X) =efjdX(J.2eerdde+C) —e (> +C)=e*+Ce ™
f(0)=2C=1, f(x)=e*+e™, f (x)=e*-e"*
_f(x) _ef-e* e¥-1 e¥+1-2 g 2
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A fim A = fimn

+In2)=In2

L7 2011 @ E R “ TR G—2ik

AEEI:

1. FEZPEEHEANETME LS 2 A TANENSEERE

53



1\

L z=f(x,y) N 22 —3yz +3x =8 T IR KL NU%

2, EEIANESRGESEREREERE L, BEHEERELEIY.
3. ANiXE 871, FKI 24 /R, #4150 4y, EiKfa] 120 554,

v OREEE CARKESE 6 NV, BN 4 9, T 24 93D

B x —>O0nf, B f(X) =e* —x -1 g(X) = x* i )
ATAETIA  BARMESIA  CHMESGA  DAEMET A

. B T (X) 7EA X, A TT S, Elhirgf(xo_h);f(x"Jrh):L W)= )
A —4 B. —2 c. 2 D. 4

L (L-2) RHigk y = ax —bx2 iR, W)

A. a=1b=3 B. a=-3b=-1 C. a=-1b=-3 D. a=4b=6

A —— B. i C. -2 D. 2
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D
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